
OP-9610 氣動砂布環帶機

件號 料號 名稱 數量 備註 件號 料號 名稱 數量 備註件號 料號 名稱 數量 備註 件號 料號 名稱 數量 備註

※1 9610#01 砂帶(#100) 1 23 9610#23 護蓋 1

1A 9610#1A 砂帶(#80) 1 ※24 9610#24 軸承(607ZZ) 1

1B 9610#1B 砂帶(#120) 1 25 9610#25 前蓋 1

※2 9610#02 小惰輪(2A+2B) 1 26 9610#26 汽缸 1

2A 9610#2A 惰輪 1 26A 9610#26A 插銷 1

2B 9610#2B 軸承(684ZZ) 2 ※27 9610#27 葉片 5

※4 9610#04 惰輪螺絲 1 28 9610#28 轉子 1

※5 9610#05 惰輪支架 1 29 9610#29 板機 1

※6 9610#06 拉緊桿 1 30 9610#30 彈簧梢(M3*23) 1

※7 9610#07 沙拉頭螺絲(3x10) 1 31 9610#31 開關本體 1

※8 9610#08 止付螺絲(M3*8) 1 33 9610#33 O型環(P9) 1

※9 9610#09 彈簧 1 34 9610#34 O型環(P5) 1

※10 9610#10 彈簧梢(M3*10) 2 35 9610#35 閥桿 1※10 9610#10 彈簧梢(M3*10) 2 35 9610#35 閥桿 1

11 9610#11 拉緊桿彈簧 1 36 9610#36 O型環(3.6*2.4) 1

12 9610#12 支撐片 1 37 9610#37 開關彈簧 1

13 9610#13 半圓頭螺絲(M4*8) 1 38 9610#38 排氣蓋 1

14 9610#14 護套 1 39 9610#39 進氣口 1

14A 9610#14A 銅襯套 1 40 9610#40 板扣 1

15 9610#15 有頭內六角螺絲(M5*15) 1 41 9610#41 板扣彈簧 1

16 9610#16 尼龍螺絲(M6) 1 42 9610#42 彈簧梢(2*6) 1

16A 9610#16A 華司 1 43 9610#43 彈簧梢(M2.5*10) 1

17 9610#17 大滾輪 1 44 9610#44 黑色防塵套 1

18 9610#18 把手 1 45 9610#45 六角板手(4MM) 1

※19 9610#19 軸承(628ZZ) 1 46 9610#46 六角板手(M1.5) 1

20 9610#20 後蓋 1 47 9610#47 O型環 1

21 9610#21 隔環 1 48 9610#48 O型環 121 9610#21 隔環 1 48 9610#48 O型環 1

22 9610#22 雙圖鍵(M3*10) 1

備註:件號或料號前面有加註※符號者，為不保固零件 http://www.onpin.com.tw      DATE：C


